Phone:  (214) 421-7366
A’ 8 4 Fac  (214) 565-0976
UVOILL. - Toll Free:  (800) 527-2100
e . . Website:  www.apwwyott.com
729 Third Avenue
Dallas, TX 75226 Countertop Warmer with Drain Email:.  info@apwwyott.com

REPLACEMENT PARTS CATALOG & WIRING DIAGRAM
Model Part Number Voltage Wattage

CWM-2A 70107250 1,500

CWM-2A WIRING DIAGRAM

| \- Heating Element
Indicator / =

)

:} Light (
. )

Thermostat

Page 1 of 2 Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage/Phase & type of Gas. Form #70107256 Rev. 2/05




Phone:  (214) 421-7366

ax: (214) 565-0976
- Toll Free:  (800) 527-2100

Website:  www.apwwyott.com

729 Th"Lr.d Avenue H H
DaIIas,ITX ;15236 CountertOp Warmer with Drain Email:.  info@apwwyott.com

-

tem Part No. Description Item Part No. Description
1 70107263 False Bottom 16 89054  Nut, KEPS 6-32
2 70107259 Cover, Hinge 17 89025 Nut, Speed 10-24 Pal Zinc
3 70107266  Cover, Bottom Foot Assy, 12 x 20 18 70107261 W/ Assy Pan
4 89111  Bushing, Strain Relief SR-7W-2 19 56506 Plate, Reflector
5 70107254 Clip, Retainer 20 89175 Rivet, Pop 66D
6 55945  cord w/lLeads 21 89073  Screw, #8 x 1/2 Hex Tapit Sht Mtl
7 55610  Cover, Bottom 22 69138 Thermostat, 200° F w/Spring Clip
8 56322  Element, 1500W, 115V 23 70107253  valve, 1/4 Turn
9 70107230  Handle, Utility 24 70107248 W/Assy, Cooker Warmer
10 56547 |nsulation 14 3/8 x 9 1/4 x 1/2 25 70107216  w/Assy, T-stat Bracket
1 54817  |nsulation 14 x 22 x 1/2 26 89059  Washer, #10, External Lock
12 87146 Knob 27 89165 Knob
13 56530 Light, Pilot 28 70107264 Tube, Drain
14 89061 Nut, Hex 10-24 29 66736 *Tape, PVC 1" White
15 88961  Nut, Hex 10-24, Green * Not Shown

Page 2 of 2 Note: When ordering, ALWAYS specify Part #, Model #, Serial #, Voltage/Phase & type of Gas. Form #70107256 Rev. 2/05




